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16a* — 250ab® 2] 147} obd Z-27

® a @ 2a-5b
® 2a(2a - 5b) @ 4a® + 10ab + 25b*
@2a(2a + 5b)

(F4]) = 2a(8a® - 125b°)
= 2a{(2a)® - (5b)3)
= 2a(2a — 5b)(4a® + 10ab + 25b%)




@(x2+x—1)(x2—x—1) @ (P+x+D(x2-x+1)
® (¥®+2x-1)(x>-x-1) @ (P+x-1)(x*-2x-1)

® (P+x+1)(x*-2x+1)

-3+ 1 =x*-2x2+1-x2
=(x2—1)2—x2

=(x2+x-1)(x2-x-1)




3. x+yt+z=lLxy+yz+zx=2,x7=3L ™, (x+y)(y+2)(z+x)
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®-1 @0 ® 1 @)2

A—-B=2x+2k=2(x+k)

A, B AU ZALE A - B Apo|ER
A, B HAlgof4E Gzt 5t

Gt 4AolER G =x+k

x+ ke A9 QlgolojofstEE

(k)2 +3(-k) +k=0

L k=0EEk=2

T FolX 2N k£ 20| B& k=2




5.  o|AF ATt 12 F A A, B HFFeTt x + 104,
ATt x* - 3x -2 W, A+ BE 514H?
@ (x-1)(x+1) @ (x-1)(2x+1)

® (x-1)(2x-1) @(x+ 1)(2x-1)
® (x+1)(2x+1)

~&B

A =Ga, B=Gb(a,beAXR2A), L=Gab
L=x3-3x-2=(x+1)(x*-x-2)
=x+1x-2)(x+1)
A+B=(x+1)(x+1)+ (x+1)(x-2)
=x+1)x+14+x-2)=(x+1)(2x-1)




6. P=02+1D22+1)2* +1)(28 +1)(2'6 +1) 9] Z= F5HH?

@232_1 @232+1 @231_1

@ 231 +1 ® 2'7-1

Fol A (2-1) = 1S FH 2 HelA| Feu=z
P=02-1)2+D22+1)(2*+1)(22 +1)(216 + 1)
22-1)(224+1)(2* +1)(28 + 1)(2'6 + 1)

24— 1)(24 + 1)(28 + 1)(2%6 + 1)

= (
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= (210 - 1)(2 +1)
=232 1
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99 x 101 x (1002 4 100 + 1) x (1002 = 100 + 1) 2 AA5tA?

(@)1006 -1 @ 1005 +1 @ 100° -1
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100 = a & |3+ 513
(F4) =(@a-1(a+1)(@®+a+1)(a®> -a+1)
= (a3—1 (a3+1)
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@ (x-a)(x=b)(x~c)
=x3—(a+b+c)x® + (ab + bc + ca)x — abc
1
@ Slla=b?+(b-c)*+(c-a)?)
=a?+b>+c*—ab-bc—ca
@(a+b+c)2:a2+b2+c2+2ab+2bc+20a
@ (x+a)(x+b)(x+c)
= x>+ (a+ b+ c)x*> + (ab + bc + ca)x + abc

® (a+b+c)(a®+ b* + c® —ab — bc — ca)
=a® + b3 + ¢ — 3abc
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Va2 + b2 + 2 =28

L+ b +cP=28%-.9
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4(a+b+c) =176

“at+b+c=44---©

o ul, 14 o] U OIE 2(ab + be + ca) O 22
(a+b+c)?=a*+b?>+c?+2(ab+bc+ca)---©
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@0 @ 1 @ 224 @ 225 @ 250
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(1-x-x%)? =ag+ayx +azx® + - + asox™®

x =12 S| tjdstH

—l=ay+ay+az+---+as--D

x = —1& o] et

l=ay—a1 +a2—a3+---—a4g+a5o---®

O+@: 2(ag+az+as+---+as) =0
ag+as+ayg+ .. +aso =0
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f(x)=(x-a)(x+b)P(x) +x+2---O
=(x+b)(x-0c)0(x)—x+4---@
=(x-c)(x—a)R(x)---®

L] 2) G elo] o

1) @ oA fla) =a+2, @ A

fla)=0
S>a=-2

i) @ oA f(-b) = -b+2, @ A
f(-b)=b+4
>b=-1

iii) @ A f(c) = —c +4, @ A
fle)=0
>c=4

S.abc =8




12, = f(x) = ¥+ px+q % g(x) = T8 AR Zs oA

F(V241) =0, g(V2+1) =2+ vV20oIth o] W, g(x) E f(x)
U A7

@x—i—l @ x-1 ® -x+1

@ -x-1 ® 2x+1
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g(x) = f(x) B U s O(x)

UM E ax + bt sha

g(x) = f(x)Q(x) +ax+b

g(V2+1) = f(V2+1)Q(V2+1) +a(VZ+ 1) +b
=a(V2+1)4+b (v f(NV2+1)=0)

Latb+tav2=2+12

La=1b=1

whebA] Fohs U A= x + 1
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x,y, 27 AFZE O] Al ] 2] dolo|al, xz2 —yz? +yx® +zx2 —zyt—xy® =0
S WET o, o] 4P ofH HAFA?

O AFAEAA AAYAY @ o7 A H27HY
@x — yol o] 51tz @ y=z3 ol 5HAZS

22 -y +y? + - g® —xy* =0
(x=-92+ (@ -y)z+ (x-y)xy=0
(x=Z+ (x+y)z+xy}=0

(F-ME+x)E+y) =05 x=y (-5 y, 25 BF F5)




14, S TR £(x), 8(0) €] T0] 2.2+ 2x01 7, HABHER7 42 -02-9
A o, f(1)g(1) ] A7

@-2 @-u 0-16 ®-12 6 -3

e
f(x),8(x) o] g5 G2 st
f(x) = Ga,g(x) = Gb (a,b= AN Z2L)
f(x) +g(x) = G(a+b) =2x% + 2x = 2x(x + 1)
HAFZME Gab = x2+x2-9x-9

=(x+1)(x+3)(x=3)

o[oll Al G =x+1°]2 ab = (x-3)(x+3)
whebA f (x) g (x) = G?ab = (x4 1)*(x + 3)(x - 3)
o f(1)g(l) =-32




15. thee §2¢C SAM T okdAl 4, B o distel A 2 B 2 Wi
22 R 2t 519 A 9} B o] AR B 9 R o HTjgors:
Yt} & Kol Bl

A, B o] HHFet4E G 2 5hH,

A=Ga, B=Gb (&, a, b £ AZR4)E YePE 5= ot
AEBE Y HSoEtstd

A= BQ+R X Ga=GbQ +R

5. R=G(a-bQ)

,GE= BRSO (7)) ot

", b2 a-b0 7t () 7k oyt

7} ) m (GRFol o] vhgh4]) o] EAf st

=mk, a—bQ = mk’ ©] H3ct.

=mk’ + bQ = mk’ + mkQ = m(k’ + kQ)
Z,a% b9 (7F) mo]l EAstERE

a @b 7t A 2AEE 71 of] Baolt)

w2tA b 9t a-bQ = () °lth

B =Gb, R = G(a—-bQ) °IA

b%a-bQ 7t () °lEE BER O AT A LB
o] Xtk G o Ert.
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A, BY| AHF4E G 2 5t

A=Ga, B=Gb (%, a, b= A2A)0]1,

AEBEYr 52 0stH

A = BQ +R °llX Ga=GbhQ +R

5. R=(a-bQ)G

%, G = B &t RY Foltt.

2t b &t a - bQ7F AR ATF oF et

ool i o] EA51A

b =mk, a—bQ = mk’

a=mk' —kQ = mk’ + mkQ = m(k’ + kQ)

=, a &b 9] TG m o] EASIER g & b 7 A2 Ae= A
<

2bA] b 2 a - bQ += A B4

B=Gb, R=G(a-bQ) °lA aa-bQ 7} AR2AC]ER B

S} R 9] = A 2 B 9 ekt Ert




